Practice Problems for Test2
1. For a distribution that is skewed to the left, usually

a. the mean will be larger than the median

b. the median will be larger than the mean

c. the first quartile will be larger than the third quartile

d. the standard deviation will be negative
2. If the mean of a list of numbers is 16.7 and the standard deviation is 0, then

a. there must have been arithmetic mistake

b. all of the numbers on the list are equal to 16.7

c. 68% of the numbers on the list are between -16.7 and +16.7

d. 68% of the numbers on the list are between 0 and 33.4
Here are the number of hours that each of a group of students studied for this exam:

               2 ,   4,    22 ,   6 ,   1 ,   4,    1,    5,    7,    4 

The next four questions use these data.

3. What is the median number of study hours? 


(a) 2.5   (b) 4   (c) 4.5   (d) 5.6   

4. What is the mean number of study hours?


 (a) 2.5   (b) 4   (c) 4.5   (d) 5.6   

5. What is the first quartile of the number of study hours?


(a) 1.5   (b) 2   (c) 6   (d) 6.5   

6. What is the third quartile of the number of study hours?


(a) 1.5   (b) 2   (c) 6   (d) 6.5   
7.    In a scatterplot we can see

a. a display of the five-number summary

b. whether or not we have a simple random sample

c. the shape, center, and spread of the distribution of a quantitative variable

d. the form, direction, and strength of a relationship between two quantitative 
variables
A study gathers data on the outside temperature during the winter, in degrees Fahrenheit, and the amount of natural gas a household consumes, in cubic feet per day. Call the temperature x and gas consumption y. The house is heated with gas, so x helps explain y. The least-squares regression line for predicting y from x is y=1344-19x. The next four questions concern this line.

8.    On a day when the temperature is 20°F, the regression line predicts that gas used will be about                                                                                                                                                                                                                                                                                                           

a. 1724 cubic feet

b. 1383 cubic feet

c. 1325 cubic feet                                                                
d. 964 cubic feet

9.    We can see from the equation of the line that

a. as the temperature x goes up, gas used y goes up, because the slope 1344 is positive

b. as the temperature x goes up, gas used y goes up, because the slope 19 is positive
c. as the temperature x goes up, gas used y goes down, because the slope 1344 is bigger than 19

d. as the temperature x goes up, gas used y goes down, because the slope -19 is negative

10.    When the temperature goes up 1 degree, what happens to the gas usage predicted by the regression line?

a. it goes up 1 cubic feet

b. it goes down 1 cubic feet

c. it goes up 19 cubic feet

d. it goes down 19 cubic feet

11.   Which correlation indicates a strong positive straight line relationship?


a. 0.4

b. -0.75
 c. 1.5 

d. 0.99

12.    The correlation between the heights of fathers and the heights of their (grownup) sons is r = 0.52. This tells us that

a. taller than average fathers tend to have taller than average sons.

b. taller than average fathers tend to have shorter than average sons.

c. sons are, on the average, taller than their fathers.

d. 52% of all sons are taller than their fathers.

13.   The correlation r = 0.52 in the previous question shows that the fact that fathers have

different heights
a. explains about 27% of the observed variation in their sons' heights.

b. explains about 52% of the observed variation in their sons' heights.

c. explains about 73% of the observed variation in their sons' heights.

d. explains about 95% of the observed variation in their sons' heights.

14. You compute the correlation between hours of TV watched and grade point average for a sample of college undergraduates and obtain r= -1.83. This means that 
a. You made an arithmetic mistake

b. Students who watch more TV tend to get lower grades

c. Students who watch more TV tend to get higher grades

d. You can conclude that radiation from TV screens causes gradual brain damage
15.  SAT scores are normally distributed with mean 500 and standard deviation 100. Julie scores 650. Her standard score is 
(a) 150   (b) 15   (c) 1.5   (d) 0.15
16.  For a normal distribution with mean 20 and standard deviation 5, approximately what percent of the observations will be between 5 and 35?

(a) 50%  (b) 68%  (c) 95%  (d) 99.7%  
17.  In any normal distribution, the percent of observations falling between standard score z = 0 and standard score z = 2 is about

(a) 95% (b) 81.5% (c) 61% (d) 50% (e) 47.5%

18. Which of the properties below is a useful property of the normal distribution?

a. The area under the curve is equal to 1

b. It is symmetric about the mean

c. It can be fully described by using the mean and standard deviation

d. All of the above properties are properties of the normal distribution

Answer key: bbbdb cdddd daaac ded
